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QUESTION NO: 1
Which two components are required for a BlackBerry device user to send and receive
PGP encrypted email messages? (Choose two.)

A. An IT policy with the URL of the PGP Universal Server pushed to the BlackBerry device
B. An IT policy with a CRL server configured, pushed to the BlackBerry device

C. An IT policy with the URL of the PGP LDAP Server pushed to the BlackBerry device

D. The PGP Support Package installed on the BlackBerry Enterprise Server

E. The PGP Support Package installed on the BlackBerry device

Answer: AE

QUESTION NO: 2

A system administrator wants to wirelessly deploy a third-party application to multiple
BlackBerry devices while providing the BlackBerry device users with the ability to remove
the software at a later time. What must the disposition of the assigned application control
policy be set to, in order to accomplish this? (Choose one.)

A. Required
B. Optional
C. Disallowed
D. Prompt

E. Available

Answer: B

QUESTION NO: 3

When setting up a software configuration, the Configuration Status field shows Unknown
Configuration for a specific BlackBerry device user account. Which statement is true?
(Choose one.)

A. The BlackBerry Enterprise Server has not polled the BlackBerry Configuration
Database for which applications need to be installed/removed on the BlackBerry device.
B. The user has not yet been assigned to a software configuration.

C. The delivery method within the software configuration for this application has not yet
been set.

D. The Disallow Third-Party Downloads IT policy has been set to True.

E. The Applications directory needs to be indexed so the software configuration status can
be updated to reflect the current applications that need to be installed or removed.

Answer: A



QUESTION NO: 4

A company utilizing a segmented network, installs the BlackBerry Attachment Server on
its own server in a separate segment from the BlackBerry Enterprise Server. With which
component would the BlackBerry Attachment Server be unable to communicate if it was
installed in a different segment of the network? (Choose one.)

A. Microsoft Exchange Server
B. Microsoft SQL Server

C. BlackBerry Messaging Agent
D. BlackBerry Dispatcher

E. BlackBerry Controller

Answer: C

QUESTION NO: 5

A new BlackBerry device user is unable to perform a wireless enterprise activation
because there is insufficient network coverage. The user has the BlackBerry Desktop
Manager installed. When attempting to perform a wired enterprise activation, the
enterprise activation is unable to initialize.

Which three actions ensure the enterprise activation initializes? (Choose three.)

A. Switch to a new USB port on the computer.

B. Create a new MAPI profile on computer.

C. Enable port 4101 on the BlackBerry Enterprise Server.

D. Delete and undelete the Desktop [SYNC] service book on the BlackBerry device.
E. Uninstall and reinstall the BlackBerry Desktop Manager software on the computer.

Answer: A,B,C

QUESTION NO: 6

A company utilizing a segmented network structure recently installed the BlackBerry
Collaboration Service, configured it to use the TLS protocol for Microsoft Windows
Messenger on its own server, and placed it in a network segment from the Microsoft Live
Communications Server. Which port must be open on the internal firewall to allow TLS
traffic? (Choose one.)

A. 5061
B. 5060
C. 443

D. 8443
E. 1533



Answer: A

QUESTION NO: 7

A PIN message is sent from the BlackBerry device and a letter D is displayed above the
checkmark beside the message in the message list. What does this indicate about the
status of the message? (Choose one.)

A. It is delayed.
B. It is denied.
C. ltis delivered.
D. Itis deleted.
E. It is dropped.

Answer: C

QUESTION NO: 8

A company needs to reduce the load on the Microsoft SQL Server hosting the
BlackBerryConfiguration Database. Which component can be configured to reduce the
number of queries made by the BlackBerry Enterprise Server to the database? (Choose
one.)

A. Microsoft SQL Query Analyzer
B. BlackBerry Manager

C. Database Notification System
D. Database Replication System
E. Microsoft SQL Server Agent

Answer: C

QUESTION NO: 9
What option can be disabled to restrict Microsoft Excel attachments only for the
BlackBerry Attachment Service? (Choose one.)

A. The attachment type using the BlackBerry Server Configuration utility

B. The attachment type using an IT policy setting in the BlackBerry Manager

C. Attachment viewing through the BlackBerry device user properties on the BlackBerry
Manager

D. The attachment type using the BlackBerry Resource Kit

E. The BlackBerry Attachment Service through Microsoft Windows services



Answer: A

QUESTION NO: 10
Which type of database replication is supported in the BlackBerry Enterprise Solution?
(Choose one.)

A. Transactional

B. Analytical processing
C. Merge

D. Snapshot

E. Architectural

Answer: A



